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and Structure Directions：In this part there are 20 incomplete

sentences， each with four suggested answers. Choose the one you

think is the best answer. Mark your choice on the Answer Sheet by

drawing with a pencil a short bar across the corresponding letter in

the brackets. 1. The first， second， and third prizes went to Jack，

Tom， and Harry ______. (A) equally (B) differently (C) similarly

(D)respectively 2. He had never given a speech to so many people，

so he felt ______. (A) excited(B) stupid (C) disappointed (D)

nervous 3. Success in the lab doesnt always mean immediate success

on a large ______. (A) business (B) account (C) way (D) scale 4.

Dinner will be ready _____， but we still have time for a drink. (A)

presently (B) currently (C) lately (D) finally 5. It is impossible to

______with a person whose methods are completely opposed to

your own. (A) cooperate (B) correspond (C) compete (D) compare

6. It was the training that he had as a young man _____ made him

such a good engineer. (A) has (B) later (C) which (D) that 7. Other

considerations _____ equal， the pressure remains constant. (A)

being (B) be (C) will be (D) is 8. The policeman needs to see _____

your ID card or your drivers license. (A) every (B) each (C) either

(D) both 9. "Lets start our meeting immediately _____ everyone has

arrived，" the chairman said. (A) although (B) until (C) after (D)

now that 10. I walked eight miles today. I never guessed that I could
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